	_			Getti	ng On		_				Getting Out	•							Running I	Bases		Getting Gone	:			A	verages				
	Games		alks	Singles		les Trpl	s Homers	At	the Plate		On the Grou			n the Air		Other	On	Over		Out		Exits		ng Avg.	On Ba		Sluggii		_		,
Player Name	GB G	N W* A	AW IW	1* 1DB 10	CI 2* 2	GR 3	HR HY	KB KD KE KF KI	KL KO KP	KS KU IOPOE	GO FC D	P TP	FO LO A	ко тко	rk2 rk3	uo /	PR BB X2	S2 S3 S	SH C2 C3	CH BOOB (HB TB IOI	B Ej In Su X	Hits	AB BA	OB P	A OBP	TB A	B Slug	TOB O TO	OB/Θ SB SA	RBI
0 W.Archer N	M 35 0	3	- 0	42 0 0	18	0 11	4 0	0 0 0 0 0	0 0 1	0 0 0 0	13 8 (0 0	22 2	0 2	0 0	0 20	0 0 0	0 0	0 0 0	0 2 2	0 0 0	0 0 0 1	75	123 0.610	78 1	26 0.619	127 1	23 1.033	82 2	41 0 0	58
1 R.Crider N	M 607 0	116	- 0	917 1 (263	0 41	11 0	0 0 0 32 0	6 0 0	5 0 0 0	205 161 1	1 0	358 101	0 0	0 0	0 272	32 0 0	1 0	0 0 0	0 57 5	7 1 0 0	0 0 1 0	1233	2112 0.584	1349 22	228 0.605	1611 21	12 0.763	1499 57 2	.6.3 1 1	1 552
2 B.Balmes M	M 3 0	0	- 0	6 0 0	2	0 0	0 0	0 0 0 0	0 0 0	0 0 0 0	0 0 0	0 0	2 0	0 0	0 0	0 2	0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	8	10 0.800	8 1	0.800	10 1	0 1.000	8 0	8+ 0 0) 4
2 T.Frier M	M 40 0	16	- 0	45 0 0	12	0 3	0 0	0 0 0 0	1 0 0	0 0 0 0	7 5 2	2 0	34 3	0 0	0 0	0 14	0 0 0	0 0	0 0 0	0 2 2	0 0 0	0 0 0 0	60	112 0.536	76 1	28 0.594	78 1	12 0.696	81 2 4	.0.5 0 0	62
2 S.Maddox M	M 6 0	2	- 0	11 0 (2	0 0	0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 1 (0	2 0	0 0	0 0	0 1	2 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	13	17 0.765	15 1	19 0.789	15 1	7 0.882	16 0	16+ 0 0	7
2 C.Phillips M	M 19 0	3	- 0	27 0 0	11	0 2	1 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 0	0 0	21 0	0 1	0 0	0 8	7 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	41	69 0.594	44 7	72 0.611	59 6	9 0.855	46 1	46 0 0	23
2 A.Tutor N	M 23 0	7	- 0	28 0 () 4	0 2	0 0	0 0 0 0 0	0 0 0	0 0 0 0	5 5 1	1 0	19 5	0 2	0 0	0 13	15 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	34	71 0.479	41 7	78 0.526	42 7	1 0.592	46 1	46 0 0	18
3 K.Jones M	M 8 0	0	- 0	7 0 (1	0 0	0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 1	1 0	9 2	0 0	0 0	0 8	1 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	8	24 0.333	8 2	24 0.333	9 2	4 0.375	11 1	11 0 0) 2
3 M.Reilly M	M 20 0	2	- 0	23 0 (10	0 1	0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 4 2	2 0	15 1	0 0	0 0	0 13	7 0 0	1 0	0 0 0	0 0 0	0 0 0	0 0 0 0	34	58 0.586	36 6	0.600	46 5	8 0.793	40 0	10+ 1 1	1 16
3 J.Self	M 35 0	4	- 0	40 0 0) 14	0 18	1 1	0 0 0 1 0	0 0 0	0 0 0 0	7 3 1	1 0	27 5	0 2	0 0	0 15	0 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	74	120 0.617	78 1	24 0.629	130 1	20 1.083	79 1	79 0 0	83
4 T.Bearden M	M 7 0	0	- 0	9 0 0) 2	0 1	0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 5 (0 0	2 2	0 0	0 0	0 3	3 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	12	23 0.522	12 2	23 0.522	16 2	3 0.696	17 1	17 0 0	8
5 T.McCoy N	M 644 1	177	- 1	916 0 (226	0 99	38 1	0 0 0 20 0	4 0 0	5 0 0 0	209 116 2	0 0	374 112	0 0	0 0	0 270	9 0 0	0 0	0 0 0	0 22 2	2 0 0 0	0 1 0 0	1280	2140 0.598	1458 23	318 0.629	1821 21	40 0.851	1535 22 6	9.77 0 0	0 1003
6 L.Civelli M	M 467 0	151	- 0	635 1 () 197	2 107	46 6	1 0 0 4 0	6 0 0	2 0 0 0	113 85 1	1 0	304 46	0 8	0 0	0 162	18 0 0	0 0	0 0 0	0 16 10	6 0 0 0	0 1 0 0	994	1564 0.636	1145 17	715 0.668	1563 15	64 0.999	1178 16 7	3.63 0 0	0 770
6 Bb.Wright N	M 89 0	20	- 0	111 0 (33	0 3	1 0	0 0 0 0 0	0 0 0	0 0 0 0	28 22 6	6 0	74 5	0 1	0 0	0 50	0 0 0	0 0	0 0 0	0 3 3	0 0 0	0 1 0 0	148	284 0.521	168 3	04 0.553	190 2	34 0.669	189 3	63 0 0	0 108
7 J.Tyler N	M 94 0	37	- 0	120 0 (20	0 4	0 0	1 0 0 4 0	3 0 0	1 0 0 0	24 25 2	2 0	77 5	0 0	0 0	0 38	15 0 0	0 0	0 0 0	0 7 7	1 0 0	0 0 0 0	144	286 0.503	181 3	23 0.560	172 2	86 0.601	206 7 2	9.43 0 0	0 73
8 M.Irwin	M 49 0	4	- 0	62 1 () 14	0 3	0 0	0 0 0 0 0	0 0 0	0 0 0 0	15 13 1	1 0	38 6	0 0	0 0	0 31	20 0 0	0 0	0 0 0	0 5 5	0 0 0	0 0 0 0	80	153 0.523	84 1	57 0.535	100 1	53 0.654	97 5	19.4 0 0	0 50
8 D.Lindeke M	M 52 0	12	- 1	70 0 0	20	0 5	1 0	0 0 0 0 0	0 0 0	0 0 0 0	12 12 4	1 0	27 5	0 0	0 0	0 22	0 0 0	0 0	0 0 0	0 4 4	0 0 0	0 1 0 0	96	156 0.615	109 1	69 0.645	129 1	56 0.827	120 4	30 0 0	53
8 S.Shreve M	M 173 2	2 46	- 1	217 0 (58	0 28	7 0	0 0 0 3 0	0 0 0	3 0 0 0	43 23 6	3 0	167 18	0 0	0 0	0 95	1 0 0	0 0	0 0 0	0 6 6	0 0 0	0 0 0 0	310	573 0.541	357 6	20 0.576	445 5	73 0.777	373 6 6	2.17 0 0	260
9 Q.Cowans N	M 107 0	30	- 0	112 0 () 27	0 17	2 0	0 0 0 2 1	2 0 0	2 0 0 1	24 16 (0 0	96 12	0 2	0 0	0 58	4 0 0	0 0	0 0 0	0 6 6	0 0 0	0 0 0 2	158	316 0.500	188 3	46 0.543	225 3	16 0.712	202 6 3	3.67 0 0	0 110
9 S.Rash M	M 2 0) 1	- 0	2 0 () 1	0 0	0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 1 (0 0	1 0	0 0	0 0	0 1	0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	3	5 0.600	4	6 0.667	4	5 0.800	5 0	5+ 0 0) 3
9 J.Rivera M	M 29 0	6	- 0	37 0 () 12	0 2	0 0	0 0 0 0 0	0 0 0	0 0 0 0	13 9 2	2 0	12 3	0 1	0 0	0 11	8 0 0	0 0	0 0 0	0 4 4	0 0 0	0 0 0 0	51	91 0.560	57 9	7 0.588	67 9	1 0.736	66 4	16.5 0 0	32
10 N.Mapp N	M 497 0	213	- 1	670 0 () 121	0 20	3 0	0 0 0 17 0	11 1 3	8 0 0 0	215 115 1	4 0	185 59	0 0	0 0	0 205	6 0 0	0 0	0 0 0	0 19 19	9 0 0 0	0 0 0 2	814	1442 0.564	1028 16	556 0.621	984 14	42 0.682	1140 19	60 0 0	530
11 C.Starnes M	M 39 0	+	- 0	32 0 (<u> </u>		-	0 0 0 0 0	-							-		1	- 1		-	0 0 0 0	1	ŀ		+		+		ŀ	37
11 E.Steele	M 19 0	-	- 0	22 0 (0 10		+	0 0 0 0 0	<u> </u>												+	0 0 0 0	1	60 0.583		-		+	37 0	-	0 29
Player Name	GB G		AW IW	<u> </u>			<u> </u>	KB KD KE KF KI	1											•	•	B Ej In Su X								OB/Θ SB SA	
	Games		alks	Singles			Homers		t the Plate		On the Grou			n the Air		Other	On	Over		Out		Exits		ng Avg.	On Ba		Sluggi	- 1		52 5/1	
▲ Name of Player					ng On						Getting Out								Running I	Bases		Getting Gone				A	verages				
Players shown in bold, col Players shown in colored f		layed Batted Not Batted Walks W* = only AW = As	one or more	teams. A Singles 1* = only straight Si 1DB = Dead Ball S 1CI - Catcher Inte	Single rference ▲ Doubles 2* = only s	 	les ple ble	nside the Park KD Over the Fence (Yard) KE KI K	outs at the Plate = Strikeout - Out of = Strikeout - Delay = Strikeout - Batte F = Strikeout - Fou (I = Strikeout - Illeg KL = Strikeout - Lov KO = Strikeout - U KP = Strikeout - S KS = Strikeout - S	f Batter's Box y of Game er Elsewhere els jal Bat oking lnknown Stepped on Plate	▲ Outs on the Grou GO = Ground Out FC = Fielder's Cho DP = Double Play TP = Triple Play	FO vice LC A	Outs in the Air D = Fly Out O = Line Out AKO = Automati TKO = Strikeou TK2 = Double : TK3 = Triple S	t - Hit Over Fe Strikeout - Hit	nce Over Fence	ı	Out	S3 = Stole 3B SH = Stole Ho	C2 = Caug C3 = Caug ome CH = Cau BOOB = 0 = BOO HB = Hi TB = To	Out Int Stealing Second ght Stealing Third ught Stealing Home Baserunner Out Or DBs+C2+C3+CH it by batted Ball ouched by Base co- Intentional Out on E	Base	▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2- AB = At B Hits-	+3+H (BAt +Outs ting Average	OB = On Base W+1+2 PA = Plate A Walks+	e T	B = Total Ba 1+(2x2)+(3x AB = At BAt Hits+O	ses T (3)+(Hx4)	How Often Out OB = Time On B W+1+2+3+FC- 9 = BOOBs+C2+ TOB/0	ase +PR+BB+X2 C3+CH ▲ How Ofte SB = Stolen E S2+S3+Si SA = Steal A	SH
		144 - III(E	mioriai vval						IOP = Intentiona	Swinging Impire's Discretion al Out at the Plate ut Due to Ejection																				uns You Drive In BI = Runs Batted	1 ▲

				Getting	On						Getting Out							Running E	ases		Getting Gone				A	verages	,			
	Games	Walks	Sin	gles	Doubles	Trpls	Homers	I	At the Plate		On the Ground		In the A	ir	Other	On	Over		Out		Exits	Batti	ng Avg.	On B	ase %	Slugg	ging %			
Player Name	GB GN	W* AW	IW 1* 11	DB 1CI	2* 2GR	3	HR HY	KB KD KE KF I	KI KL KO KI	P KS KU IOPOE	GO FC DP	P FO LO	O AKO TE	KO TK2 TK3	3 UO /	PR BB X2	S2 S3	SH C2 C3	сн воов О	HB TB IOB	Ej In Su X	Hits	AB BA	OB	PA OBP	TB	AB Slug	тов О	TOB/Θ SB	SA RBI
12 Da.Binder	M 1 0	0 -	0 0	0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 1 1) 1 (0 (0 0 0	0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	0	4 0.000	0	4 0.000	0	4 0.000	1 0	1+ 0	0 0
12 D.Binder	M 352 0	123 -	1 410	0 0	103 0	68	10 7	0 0 0 5	0 5 0 0	0 0 1 0	83 60 6	263 3	6 0 1	3 0 0	0 161	2 0 0	0 0	0 0 0	0 4 4	0 0 0	0 1 0 0	598	1069 0.559	722	1193 0.605	888 1	1069 0.831	765 4	191.3 0	0 459
13 R.McCoy	M 675 0	199 -	4 797	2 1	133 1	37	5 0	0 0 0 53	0 18 0 0	10 0 0 0	277 141 54	381 1	30 0 (0 0 0	0 386	5 0 0	0 0	0 0 0	0 22 22	1 0 1	0 0 0 0	976	2040 0.478	1179	2243 0.526	1199 2	2040 0.588	1315 22	59.77 0	0 658
14 J.Sumner	M 51 0	28 -	0 39	0 0	24 0	8	5 0	0 0 0 2	0 1 0 0	1 0 0 0	10 6 2	40 2	2 0 (0 0 0	0 26	0 0 0	0 0	0 0 0	0 5 5	0 0 0	0 0 0 0	76	140 0.543	104	168 0.619	131	140 0.936	105 5	21 0	0 58
15 D.Fisher	M 14 0	3 -	0 11	0 0	2 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	3 3 0	20 (0 0	0 0	0 9	2 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	13	39 0.333	16	42 0.381	15	39 0.385	19 0	19+ 0	0 6
16 J.Crider	M 7 0	6 -	0 4	0 0	2 0	3	0 0	0 0 0 3	0 0 0 0	0 0 0 0	0 1 0	4 (0 0	0 0	0 3	1 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	9	17 0.529	15	23 0.652	17	17 1.000	16 0	16+ 0	0 10
16 J.Mann	M 9 0	0 -	0 6	0 0	2 0	2	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1 0	15 2	2 0 0	0 0	0 6	2 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	10	28 0.357	10	28 0.357	16	28 0.571	11 0	11+ 0	0 10
17 J.Carper	M 51 0	17 -	0 49	0 0	24 0	7	2 0	0 0 0 2	0 2 0 0	1 0 0 0	8 7 0	42	1 0 3	3 0 0	0 23	23 0 0	0 0	0 0 0	0 1 1	0 0 0	0 1 0 0	82	151 0.543	99	168 0.589	126	151 0.834	104 1	104 0	0 62
18 S.Nofziger	M 13 0	3 -	0 16	0 0	1 0	1	0 0	0 0 0 0	0 1 0 0	0 0 0 0	1 4 0	10	1 0 (0 0 0	0 4	1 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	18	35 0.514	21	38 0.553	21	35 0.600	25 1	25 0	0 12
21 B.Borsom	M 23 0	7 -	0 27	0 0	8 0	1	2 0	0 0 0 0	0 0 0 0	0 0 0 0	3 9 0	21 2	2 0 0	0 0	0 10	5 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	38	73 0.521	45	80 0.563	54	73 0.740	52 1	52 0	0 42
21 M.Nations	M 149 1	37 -	0 177	0 0	65 0	35	10 3	0 0 0 4	0 1 0 0	1 0 0 0	41 30 4	103 1	9 0 0	0 0	0 70	0 0 0	0 0	0 0 0	0 4 4	0 0 0	0 0 0 0	290	493 0.588	327	530 0.617	464	493 0.941	344 4	86 0	0 214
21 K.Shelton	M 31 0	0 -	1 30	0 0	11 0	5	0 0	0 0 0 0	0 0 0 0	0 0 0 0	5 4 1	30	3 0 8	8 0 0	0 14	12 0 0	1 0	0 1 0	0 2 3	0 0 0	0 0 0 0	46	97 0.474	47	98 0.480	67	97 0.691	51 3	17 1	2 40
22 J.Brivette	M 24 0	6 -	0 27	0 0	5 0	3	0 0	0 0 0 0	0 0 0 0	0 0 0 0	8 1 1	15	5 0 1	1 0 0	0 8	2 0 0	0 0	0 0 0	0 3 3	0 0 0	0 0 1 0	35	66 0.530	41	72 0.569	46	66 0.697	42 3	14 0	0 26
23 T.McCauley	M 30 0	3 -	0 46	0 0	9 0	2	1 0	0 0 0 0	0 0 0 0	0 0 0 0	12 8 1	19 4	1 0 (0 0	0 17	6 0 0	0 0	0 0 0	0 2 2	0 0 0	0 0 0 0	58	102 0.569	61	105 0.581	74	102 0.725	68 2	34 0	0 37
23 C.Sansbury	M 9 0	2 -	0 5	0 0	6 0	2	5 0	0 0 0 0	0 0 0 0	0 0 0 0	2 2 1	6 (0 2	2 0 0	0 4	0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	18	31 0.581	20	33 0.606	43	31 1.387	17 0	17+ 0	0 20
23 R.Stewart	M 8 0	1 -	0 10	0 0	2 0	2	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 1 0	7 ;	3 0 0	0 0	0 2	0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	14	26 0.538	15	27 0.556	20	26 0.769	16 0	16+ 0	0 16
24 J.Thornton	M 28 0	2 -	0 24	0 0	7 0	5	0 0	0 0 0 2	0 0 0 0	0 0 0 0	5 6 0	36 2	2 0 0	0 0	0 9	12 0 0	0 0	0 0 0	0 1 1	1 0 0	0 0 0 0	36	87 0.414	38	89 0.427	53	87 0.609	44 1	44 0	0 27
25 I.Smith	M 83 0	22 -	0 81	1 0	26 0	17	7 1	0 0 0 0	0 0 0 0	0 0 0 0	15 18 1	72	3 0 3	3 0 0	0 32	15 0 0	0 0	0 0 0	0 11 11	0 0 0	0 0 0 0	133	250 0.532	155	272 0.570	217	250 0.868	165 11	15 0	0 111
26 M.Hayes	M 8 0	1 -	0 11	0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	6 1 0	6	1 0 (0 0 0	0 8	4 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	11	25 0.440	12	26 0.462	11	25 0.440	13 1	13 0	0 7
26 D.Russell	M 8 0	1 -	0 10	0 0	0 0	0	0 0	0 0 0 0	0 0 1 0	0 0 0 0	0 3 0	8 (0 0	0 0 0	0 4	0 0 0	0 0	0 0 0	0 1 1	1 0 0	0 0 0 0	10	22 0.455	11	23 0.478	10	22 0.455	14 1	14 0	0 4
27 C.Harwell	M 8 0	1 -	0 8	0 0	2 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	3 3 0	8 (0 (0 0 0	0 2	8 0 0	0 0	0 0 0	0 1 1	0 0 0	0 0 0 0	10	24 0.417	11	25 0.440	12	24 0.500	14 1	14 0	0 3
28 R.Ray	M 500 1	184 -	5 526	0 0	215 0	122	55 7	0 0 0 22	0 17 0 0	6 0 0 0	126 81 2	371 5	0 0 7	7 0 0	0 203	11 0 0	0 0	0 0 0	0 41 41	0 0 1	1 1 0 1	925	1607 0.576	1114	1796 0.620	1570 1	1607 0.977	1133 41	27.63 0	0 799
29 C.Allen	M 38 0	7 -	0 50	0 0	18 0	9	5 0	0 0 0 0	0 0 0 0	0 0 0 0	8 7 0	33 4	1 0 1	1 0 0	0 21	0 0 0	0 0	0 0 0	0 2 2	0 0 0	0 0 0 0	82	135 0.607	89	142 0.627	133	135 0.985	91 2	45.5 0	0 68
30 Ta.Miller	M 52 0	7 -	1 59	0 0	26 1	11	4 8	0 0 0 0	0 0 0 0	0 0 0 0	11 7 0	42	1 0 8	3 0 0	0 32	0 0 0	0 0	0 0 0	0 3 3	0 0 0	1 0 0 0	109	181 0.602	117	189 0.619	194	181 1.072	112 3	37.33 0	0 118
Player Name	GB GN							KB KD KE KF 1		P KS KU IOPOE		P FO LO			uo /	PR BB X2				нв тв юв							_	тов О	TOB/Θ SB	SA RBI
	Games	Walks		gles		Trpls	Homers		At the Plate		On the Ground		In the A	ir	Other	On	Over		Out		Exits		ng Avg.	On E	Base %		ging %			
▲ Name of Player Players shown in bold, co	l plored font are c	urrently Regulars of		Getting ams	GOn	<u> </u>			Outs at the Dista		Getting Out Outs on the Ground	A Outo in the	Λie.		A Other Oute		A Cotting Ove	Running E			Getting Gone		ton Vou Hit A	Llaur Offer		verages		A Llow Office ()ut on Doos	
Players shown in colored	font are current	ly Subs on one or	more teams.		l I	i j	Homers		Outs at the Plate B = Strikeout - Ou	it of Batter's Box	GO = Ground Out	FO = Fly Ou	t		▲ Other Outs UO = Unknow	n Out	▲ Getting Ove S2 = Stole 2B	C2 = Caug	nt Stealing Second		Ej = Ejection	Hits = 1+2		OB = On Ba	se T	TB = Total E	Bases	TOB = Time C	n Base	İ
	▲ Games Pla GB = Game I		▲ Singles	maiaht Ciaal		1	HR = Homer In		KD = Strikeout - De KE = Strikeout - B		FC = Fielder's Choice DP = Double Play		omatic TKO		/ = Inning En	ding Out	S3 = Stole 3B SH = Stole H	B C3 = Caug lome CH = Cau	ht Stealing Third ght Stealing Home		In = Injury Su = Substitution	AB = At E			2+3+H Appearance		(3x3)+(Hx4) At	W+1+2+3+ Θ = BOOBs+	FC+PR+BB+X2 C2+C3+CH	I
	BN = Game	Not Batted	1* = only st 1DB = Dea	ad Ball Sing	gle	ı			KF = Strikeout - F	ouls	TP = Triple Play	TKO = Stri	keout - Hit Ov			▲ Getting On		BOOB =	Baserunner Out On		X = Unknown		tting Average	Walk	s+Hits+Outs	Hits+0	Outs	ΤΟΒ/Θ		l v Often Safe Sto
		▲ Walks	1CI - Cato	her Interfer	rence	▲ Triples 3 = Triple	e e		KI = Strikeout - II KL = Strikeout -	legal Bat Looking				- Hit Over Fence Hit Over Fence)	PR = Pinch Ran BB = Base Burg		Θ = BOC HB = Hi	Bs+C2+C3+CH by batted Ball					OBP = On	Base %age	Slug = Slug	ging %age		SB = Sto	olen Base
		W* = only straig			▲ Doubles 2* = only straig				KO = Strikeout	- Unknown		110 - 111	p.o oumoout -	. III O VOI I OIIOG			ng Runner on 2E	3 TB = To	ouched by Base coa	ch										S3+SH eal Average
		AW = Assisted IW - Intentiona			2GR = Ground	d Rule Do	ouble		KP = Strikeout KS = Strikeout	- Stepped on Plate								IOB =	ntentional Out on Ba	ase									SB /	eai Average / (SB+C2+C3+C
									KU = Strikeou	it Umpire's Discretion																			Runs You Drive	/e.ln. ▲
									IOP = Intention	onal Out at the Plate																			RBI = Runs Ba	
									UE = Ufficial	Out Due to Ejection																				

			Gettin	g On			Getting Out				R	Running Bases		Getting Gone			Averages			
	Games		Singles	Doubles T	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %	_		
Player Name	GB GN	W* AW IV	V 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPO	GO FC DP TP	FO LO AKO TKO TK2 TK3	UO / I	PR BB X2	S2 S3 SH	C2 C3 CH BOOB ()	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/O	SB SA	RBI
31 S.Brewer N	M 30 0	10 - 0	38 0 0	15 0	4 1 0	0 0 0 1 0 0 0 0 0 0 0 0	5 4 0 0	14 4 0 0 0 0	0 12	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	58 86 0.674	68 96 0.708	8 84 86 0.977	71 0 71+	0 0	34
41 V.Tuccillo N	M 32 0	5 - 0	36 0 0	10 0	6 0 0	0 0 0 0 0 1 0 0 0 0 0	10 5 1 0	27 4 0 0 0 0	0 15	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	52 100 0.520	57 105 0.543	3 74 100 0.740	62 1 62	0 0	40
44 C.Adcock N	M 12 0	0 - 0	18 0 0	5 1	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	5 3 0 0	6 1 0 1 0 0	0 3	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 2	24 40 0.600	24 40 0.600	30 40 0.750	27 1 27	0 0	19
44 F.Allen N	√ 164 0	61 - 0	210 0 0	58 0	16 9 0	0 0 0 6 0 1 0 0 3 0 0 0	51 46 3 0	112 15 0 0 0 0	0 79	6 0 0	0 0 0	0 0 0 4 4	1 0 0	0 0 0 0	293 530 0.553	354 591 0.599	410 530 0.774	391 4 97.75	0 0	182
44 D.Kyle N	M 20 0	2 - 0	19 0 0	12 0	4 7 0	0 0 0 0 0 0 0 0 0 0 0 0	3 2 0 0	20 5 0 0 0 0	0 13	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	42 72 0.583	44 74 0.595	83 72 1.153	39 0 39+	0 0	41
44 A.Matz N	√ 1 98 0	48 - 0	104 0 0	33 0	16 0 3	0 0 0 0 0 0 0 0 0 0 0 0	24 29 6 0	65 4 0 4 0 0	0 50	6 0 0	0 0 0	0 0 0 0 0	0 0 1	0 1 0 0	156 288 0.542	204 336 0.607	230 288 0.799	230 0 230+	0 0	123
46 S.Prachyl N	M 135 0	21 - 0	193 0 0	31 0	5 0 0	0 0 0 1 0 0 0 0 0 0 0 0	47 49 7 0	69 15 0 0 0 0	0 75	0 0 0	0 0 0	0 0 0 3 3	0 0 0	0 0 0 0	229 417 0.549	250 438 0.571	270 417 0.647	299 3 99.67	0 0	134
52 L.Frazier N	√I 351 0	76 - 0	410 2 0	118 0	47 8 2	0 0 0 1 0 4 0 0 3 0 0 0	135 70 9 0	252 22 0 4 0 0	0 177	4 0 0	0 0 0	0 0 0 13 13	0 0 0	0 0 0 0	587 1087 0.540	663 1163 0.570	829 1087 0.763	723 13 55.62	0 0	425
60 T.Taylor N	M 9 0	0 - 0	11 0 0	3 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0	5 3 0 0	6 3 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	15 32 0.469	15 32 0.469	20 32 0.625	18 1 18	0 0	5
64 J.Beal N	M 301 0	92 - 0	367 0 0	19 0	2 0 0	0 0 0 7 0 7 0 0 11 0 0 0	164 101 4 0	139 44 0 0 0 0	0 159	0 0 0	0 0 0	0 0 0 7 7	0 0 0	0 0 0 0	388 865 0.449	480 957 0.502	2 411 865 0.475	581 7 83	0 0	225
69 T.Kelly N	M 45 0	19 - 1	52 0 0	9 0	1 0 0	0 0 0 0 0 1 0 0 1 0 0 0	17 5 3 0	36 6 0 0 0 0	0 27	1 0 0	0 0 0	0 0 0 5 5	0 0 0	0 0 0 0	62 131 0.473	82 151 0.543	3 73 131 0.557	87 5 17.4	0 0	35
73 F.Reynolds N	0 8 N	1 - 0	4 0 0	2 0	0 0 0	0 0 0 1 0 0 0 0 2 0 0 0	4 3 0 0	7 1 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	6 24 0.250	7 25 0.280	8 24 0.333	10 0 10+	0 0	6
77 D.Yekell N	И 99 O	21 - 0	111 0 0	40 0	16 3 2	0 0 0 1 0 0 0 0 0 0 0 0	15 22 2 0	89 11 0 5 0 0	0 56	0 0 0	0 0 0	0 0 0 3 3	0 0 0	0 0 0 0	172 317 0.543	193 338 0.571	259 317 0.817	210 3 70	0 0	126
82 K.Waters N	M 53 0	16 - 1	55 0 0	20 0	4 0 0	0 0 0 2 0 0 0 0 0 0 0 0	6 20 1 0	38 3 0 1 0 0	0 21	4 0 0	0 0 0	0 0 0 3 3	0 0 0	0 0 0 0	79 150 0.527	96 167 0.575	107 150 0.713	116 3 38.67	0 0	37
86 M.Drolet N	M 16 0	0 - 0	22 0 0	9 0	1 1 0	0 0 0 0 0 0 0 0 0 0 0 0	7 1 1 0	12 1 0 0 0 0	0 6	2 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	33 55 0.600	33 55 0.600	47 55 0.855	33 0 33+	0 0	19
99 G.Brooke N	√ 38 0	13 - 0	40 0 0	7 0	4 0 0	0 0 0 1 0 1 0 0 0 0 0 0	6 6 2 0	34 1 0 0 0 0	0 16	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 1	51 102 0.500	64 115 0.557	66 102 0.647	70 1 70	0 0	36
J.Althoff N	M 7 0	0 - 0	7 0 0	3 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 2 0	10 1 0 0 0 0	0 2	2 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	11 24 0.458	11 24 0.458	3 16 24 0.667	11 1 11	0 0	10
M.Arnold N	M 1 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 1.000	3 3 1.000	4 3 1.333	3 0 3+	0 0	2
T.Auxier N	M 1 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	2 3 0.667	2 0 2+	0 0	0
A.Baker N	И 28 0	5 - 0	32 0 0	14 0	4 2 6	1 0 0 0 0 0 0 0 0 0 0 0	5 2 1 0	21 4 0 5 0 0	0 6	3 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	58 97 0.598	63 102 0.618	104 97 1.072	57 2 28.5	0 0	56
M.Ball N	M 2 0	1 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 1 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 6 0.500	4 7 0.571	3 6 0.500	4 0 4+	0 0	2
C.Barker N	√ 5 0	1 - 0	5 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 1 1 0	3 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	7 13 0.538	8 14 0.571	9 13 0.692	9 0 9+	0 0	1
Jo.Bennett N	M 1 0	0 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 1.000	3 3 1.000	3 3 1.000	3 0 3+	0 0	1
S.Blount N	M 7 0	0 - 0	7 0 0	1 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	9 3 0 1 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	9 23 0.391	9 23 0.391	12 23 0.522	10 0 10+	0 0	4
Player Name	GB GN	W* AW IV	W 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPO	GO FC DP TP	FO LO AKO TKO TK2 TK3	UO / I	PR BB X2	S2 S3 SH	С2 C3 CH BOOB Ө	нв тв юв	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О тов/о	SB SA	RBI
	Games	Walks	Singles	Doubles T	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player Players shown in bold, colo	1	= 0	Gettin	g On	1		Getting Out					Running Bases		Getting Gone			Averages			
Players shown in colored f		ly Subs on one or mo yed Batted Not Batted • Walks • W* = only straight	ore teams. ▲ Singles 1* = only straight Sir 1DB = Dead Ball Si 1CI - Catcher Interf	ngle	Triples = Triple	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere KF = Strikeout - Fouls KI = Strikeout - Illegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown	GO = Ground Out	FO = Fly Out	PF B	Out g Out Getting On R = Pinch Ran BB = Base Burgle	S3 = Stole 3B SH = Stole Home	C2 = Caught Stealing Second C3 = Caught Stealing Third e CH = Caught Stealing Home BOOB = Baserunner Out On B O = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coach	E _I III	Getting Gone = Ejection n = Injury Su = Substitution X = Unknown	Hits = 1+2+3+H AB = At BAt Hits+Outs BA = Batting Average		1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+B Θ = BOOBs+C2+C3+CI TOB/Θ	B+X2)
		AW = Assisted W: IW - Intentional V		2GR = Ground R	ule Double	KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging KU = Strikeout Umpire's Discretior IOP = Intentional Out at the Plate OE = Official Out Due to Ejection						IOB = Intentional Out on Bas	e					Runs Yo	SB / (SB+C2- u Drive In A uns Batted In	·C3+C

			Gettin	g On			Getting Out				R	Running Bases		Getting Gone		•	Averages		
	Games	Walks	Singles	Doubles Ti	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %		
Player Name	GB GN	W* AW IW	7 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB ()	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB ⊙ TOB/ ⊙	SB SA I
K.Bogdal N	M 11 0	1 - 0	18 0 0	5 0	1 1 1	0 0 0 0 0 0 0 0 0 0 0 0	3 1 0 0	6 0 0 0 0 0	0 3	5 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	26 36 0.72	2 27 37 0.73	0 39 36 1.083	3 26 2 13	0 0
P.Bradley M	M 7 0	4 - 0	9 0 0	5 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 2 0 0	2 3 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	15 22 0.68	2 19 26 0.73	1 22 22 1.000	21 0 21+	0 0
W.Brogdon N	M 1 0	1 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.33	3 2 4 0.50	0 1 3 0.333	3 0 3+	0 0
Ja.Brown N	M 8 0	2 - 0	9 0 0	0 0	2 1 0	0 0 0 0 0 0 0 0 0 0 0 0	2 1 0 0	8 1 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	12 24 0.50	0 14 26 0.53	8 19 24 0.792	2 14 0 14+	0 0
J.Byrnes N	VI 2 1	0 - 0	5 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 1	5 7 0.71	4 5 7 0.71	4 5 7 0.714	5 1 5	0 0
J.Caballero N	M 3 0	0 - 0	4 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	2 1 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 9 0.44	4 4 9 0.44	4 4 9 0.444	5 0 5+	0 0
G.Casalini M	M 4 0	0 - 0	7 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	9 12 0.75	9 12 0.75	0 11 12 0.917	10 1 10	0 0
T.Chaffin N	VI 2 0	0 - 0	3 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	5 6 0.83	3 5 6 0.83	3 7 6 1.167	7 5 0 5+	0 0
L.Clackum N	M 1 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 4 0.50	2 4 0.50	0 2 4 0.500	2 0 2+	0 0
M.Coats	M 1 0	0 - 0	0 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.66	7 2 3 0.66	7 4 3 1.333	3 3 0 3+	0 0
C.Coble	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.50	0 1 2 0.50	0 1 2 0.500	1 0 1+	0 0
C.Cooper N	И 1 0	1 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.50	2 3 0.66	7 1 2 0.500	3 0 3+	0 0
D.Covault	√I 18 0	5 - 0	22 0 0	6 0	0 0 0	0 0 0 1 0 0 0 0 0 0 0 0	9 5 1 0	5 1 0 0 0 0	0 12	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	28 50 0.56	0 33 55 0.60	0 34 50 0.680	38 2 19	0 0
R.Crawford	M 1 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 1.00	3 3 1.00	0 4 3 1.333	3 3 0 3+	0 0
S.Crawford N	M 4 0	1 - 0	3 0 0	1 0	2 0 1	0 0 0 0 0 1 0 0 0 0 0	0 0 0 0	4 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	7 12 0.58	3 8 13 0.61	5 15 12 1.250	7 0 7+	0 0
Rn.Crider N	VI 2 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 1 0 0	2 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 7 0.28	6 2 7 0.28	6 2 7 0.286	3 0 3+	0 0
Z.Crider N	VI 23 0	4 - 0	24 0 0	9 0	1 6 0	0 0 0 0 0 0 0 0 0 0 0	10 6 2 0	15 0 0 0 0 0	0 10	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	40 73 0.54	8 44 77 0.57	1 69 73 0.945	5 44 2 22	0 0
R.Croto N	VI 18 0	4 - 0	23 0 0	5 0	5 0 8	0 0 0 0 0 1 0 0 0 0 0	3 2 0 0	12 1 0 2 0 0	0 6	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	41 62 0.66	1 45 66 0.68	2 80 62 1.290	39 0 39+	0 0
E.Cruz N	VI 2 0	0 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 2 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 7 0.42	9 3 7 0.42	9 3 7 0.429	3 0 3+	0 0
J.Culligan N	VI 9 0	4 - 0	13 0 0	2 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	4 1 0 0	6 2 0 0 0 0	0 5	1 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	16 29 0.55	2 20 33 0.60	6 20 29 0.690	21 0 21+	0 0
D.DeMartino N	M 1 0	0 - 0	1 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.66	7 2 3 0.66	7 3 3 1.000	2 0 2+	0 0
G.Eckhart N	M 10 0	2 - 0	8 0 0	4 0	2 0 0	0 0 0 0 0 0 0 0 0 0 0	3 1 0 0	11 1 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	14 30 0.46	7 16 32 0.50	0 22 30 0.733	3 17 1 17	0 0
J.Ellis N	M 2 0	0 - 0	2 0 0	0 0	0 1 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	1 1 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 6 0.50	3 6 0.50	0 6 6 1.000	3 0 3+	0 0
B.Emery N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.33	3 1 3 0.33	3 1 3 0.333	3 1 0 1+	0 0
Player Name	GB GN	W* AW IV	V 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	С2 С3 CH BOOB O	нв тв юв	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О тов/о	SB SA I
·	Games	Walks	Singles	Doubles T	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %		
▲ Name of Player	1		Gettin	g On	•		Getting Out				R	Running Bases		Getting Gone			Averages		
Players shown in bold, col Players shown in colored	font are currently A Games Play GB = Game B BN = Game N	Subs on one or moded atted	re teams. A Singles 1* = only straight Sin 1DB = Dead Ball Sir 1CI - Catcher Interfer Valk lk (Coed)	ngle	Friples Triple Double	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere KF = Strikeout - Fouls KI = Strikeout - Illegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging	FC = Fielder's Choice	FO = Fly Out	F	Out ng Out Getting On PR = Pinch Ran BB = Base Burgl	S3 = Stole 3B SH = Stole Hom	A Getting Out C2 = Caught Stealing Second C3 = Caught Stealing Third ne CH = Caught Stealing Home BOOB = Baserunner Out On B Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coact IOB = Intentional Out on Bas	ase	▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2+3+H AB = At BAt	OB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs	▲ How Effectively You Hi TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs Slug = Slugging %age	TOB = Time On Base W+1+2+3+FC+PR+E Θ = BOOBs+C2+C3+CI TOB/Θ	BB+X2
						KU = Strikeout Umpire's Discretion IOP = Intentional Out at the Plate OE = Official Out Due to Ejection													ou Drive In A Runs Batted In

			Getting	g On				Getting Out]	Running Bases		G	etting Gone			Averages			
	Games	Walks	Singles	Doubles Tr	pls Homers	At the Plate		On the Ground		n the Air	Other	On	Over		Out		Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GN	W* AW IW	7 1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KI	KS KU IOPOE	GO FC DP TP	FO LO	ако тко тк2 т	rk3 UO /	PR BB X2	S2 S3 SH	H C2 C3 CH	воов \varTheta нв	TB IOB Ej	In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TO	B/O SB SA	RBI
W.Farmer N	M 1 0	0 - 0	0 0 0	1 0	0 0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 1 0	2 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	1 4 0.250	1 4 0.25	2 4 0.50	0 1 0 1	+ 0 0	0
S.Faulkner M	М 9 0	5 - 0	14 0 0	1 0	0 0 0	0 0 0 1 0 0 0 0	0 0 0 0	2 0 0 0	7 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	2 2 0	0 0 0	0 0 0	15 25 0.600	20 30 0.66	7 16 25 0.64	0 20 2 1	10 0 0	9
T.Fincher N	M 2 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 1 0 0	0 0 0 0	0 0 0 0	2 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	3 6 0.500	3 6 0.50	4 6 0.66	7 3 0 3	3+ 0 0	2
J.Fiscella M	M 2 0	0 - 0	2 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	1 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	4 6 0.667	4 6 0.66	6 6 1.00	0 4 0 4	+ 0 0	1
T.Foss M	M 4 0	4 - 0	2 0 0	2 0	1 0 0	0 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0	2 1	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	1 1 0	0 0 0	0 0 1	5 9 0.556	9 13 0.69	9 9 1.00	0 9 1	9 0 0	5
J.Franklin M	М 9 0	2 - 0	11 0 0	1 0	0 0 2	0 0 0 0 0 0 0 0	0 0 0 0	2 2 0 0	6 0	0 5 0	0 0 7	2 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	14 29 0.483	16 31 0.510	21 29 0.72	4 16 0 10	6+ 0 0	11
D.Gardo M	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	1 2 0.500	1 2 0.50	1 2 0.50	0 1 0 1	1+ 0 0	1
C.Gilbert N	M 16 0	3 - 0	19 0 0	9 0	1 3 0	0 0 0 1 0 0 0 0	0 0 0 0	6 3 0 0	7 2	0 0 0	0 0 6	0 0 0	0 0 0	0 0 0	1 1 0	0 0 0	0 0 0	32 51 0.627	35 54 0.64	52 51 1.02	0 35 1 3	35 0 0	25
E.Graham M	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 2 0 0	1 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	1 4 0.250	1 4 0.25	1 4 0.25	0 3 0 3	3+ 0 0	2
J.Gravitt N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 1 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	1 3 0.333	1 3 0.33	1 3 0.33	3 2 0 2	2+ 0 0	0
L.Gray N	M 7 0	0 - 0	9 0 0	8 0	3 2 1	0 0 0 0 0 0 0 0	0 0 0 0	2 0 0 0	3 0	0 0 0	0 0 2	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	23 28 0.821	23 28 0.82	46 28 1.64	3 20 0 2	0+ 0 0	26
E.Griffy N	M 1 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	3 3 1.000	3 3 1.00	4 3 1.33	3 3 0 3	3+ 0 0	5
G.Groce N	M 2 0	0 - 0	6 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	0 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	6 7 0.857	6 7 0.85	6 7 0.85	7 6 0 6	6+ 0 0	4
D.Harris N	M 5 0	1 - 0	6 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 1 1 0	2 1	0 0 0	0 0 2	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	7 13 0.538	8 14 0.57	8 13 0.61	5 9 0 9	9+ 0 0	3
K.Hartman M	M 3 0	0 - 0	5 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	3 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	5 9 0.556	5 9 0.55	5 9 0.55	6 5 0 5	5+ 0 0	3
J.Heath M	M 4 0	0 - 0	6 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 2 0 0	2 0	0 0 0	0 0 2	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	6 10 0.600	6 10 0.60	6 10 0.60	0 8 0 8	3+ 0 0	1
M.Heinritz M	M 1 0	0 - 0	1 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	2 2 1.000	2 2 1.00	3 2 1.50	0 2 0 2	2+ 0 0	0
C.Herring N	M 1 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	1 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	2 4 0.500	2 4 0.50	2 4 0.50	0 3 0 3	3+ 0 0	1
A.Hess	M 25 0	5 - 0	39 0 0	9 0	2 0 0	0 0 0 0 0 0 0 0	0 0 0 0	7 4 2 0	13 2	0 5 0	0 0 12	2 0 0	0 0 0	0 0 0	1 1 0	0 0 0	0 0 0	50 83 0.602	55 88 0.62	63 83 0.75	9 59 1 5	59 0 0	34
T.Hoier M	M 5 0	0 - 0	3 0 0	3 0	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	8 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	7 16 0.438	7 16 0.43	12 16 0.75	0 7 0 7	7+ 0 0	3
G.Hughes M	M 3 0	2 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	5 1	0 0 0	0 0 2	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	1 8 0.125	3 10 0.30	1 8 0.12	5 3 0 3	3+ 0 0	3
L.Humphries N	M 1 0	0 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	3 3 1.000	3 3 1.00	3 3 1.00	0 3 0 3	3+ 0 0	2
R.Hutchins M	M 3 0	0 - 0	3 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	4 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0 0	1 1 0	0 0 0	0 0 0	5 10 0.500	5 10 0.50	7 10 0.70	0 6 1	6 0 0	1
P.Isern N	M 20 0	9 - 0	24 0 0	11 0	4 1 0	0 0 0 0 0 1 0 0	1 0 0 0	4 3 2 0	13 1	0 0 0	0 0 9	0 0 0	0 0 0	0 0 0	3 3 0	0 0 0	0 0 0	40 65 0.615	49 74 0.66	62 65 0.95	4 51 3 1	17 0 0	29
Player Name	GB GN	W* AW IW	V 1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KI	KS KU IOPOE	GO FC DP TP	FO LO A	ко тко тк2 т	K3 UO /	PR BB X2	S2 S3 SH	H C2 C3 CH	воов О нв	тв юв еј	In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О то	B/O SB SA	RBI
·	Games	Walks	Singles	Doubles Tr	rpls Homers	At the Plate		On the Ground	1	n the Air	Other	On	Over		Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player	1		Getting	g On				Getting Out]	Running Bases		Ge	etting Gone			Averages	•		
Players shown in bold, col Players shown in colored f	iored font are ci font are current	y Subs on one or mor yed Batted	re teams. A Singles 1* = only straight Sing 1DB = Dead Ball Sing 1CI - Catcher Interfe Valk lk (Coed)	gle Arence	riples Triple louble	Over the Fence (Yard) KE = Strikeout - B. KF = Strikeout - F. KI = Strikeout - III KL = Strikeout - KO = Strikeout - KP = Strikeout KS = Strikeout	t of Batter's Box (elay of Game atter Elsewhere ouls egal Bat Looking Unknown - Stepped on Plate - Swinging	GO = Ground Out	TK2 = Double	iic TKO ut - Hit Over Fence Strikeout - Hit Over Fe Strikeout - Hit Over Fen	nce	rn Out ding Out ▲ Getting On PR = Pinch Ran BB = Base Burg	SH = Stole Hon	C2 = Caught Steali C3 = Caught Stea ne CH = Caught Ster BOOB = Baserur 0 = BOOBs+C2 HB = Hit by batt TB = Touched	aling Home nner Out On Base +C3+CH ted Ball	Ej = In = Su	Ejection Injury = Substitution	Hits = 1+2+3+H AB = At BAt	▲ How Often You Get On OB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Ba W+1+2+3+FC+F Θ = BOOBs+C2+C TOB/Θ	ise PR+BB+X2	ase I verage
						IOP = Intention	t Umpire's Discretion onal Out at the Plate Out Due to Ejection															ns You Drive In ▲ BI = Runs Batted In	

	_		Getting	g On			Getting Out				F	Running Bases		Getting Gone			Averages			
	Games	Walks	Singles	Doubles Tr	pls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GN	W* AW IW	7 1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB O	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/O	SB SA	RBI
K.James N	M 34 1	5 - 0	40 0 0	10 0	1 1 0	0 0 0 2 0 0 0 0 1 0 0 0	14 11 0 0	28 2 0 0 0 0	0 21	7 0 0	0 0 0	0 0 0 1 1	0 0 0	0 1 0 0	52 110 0.473	57 115 0.496	67 110 0.609	67 1 67	0 0	35
M.Janofsky M	M 7 0	0 - 0	15 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	8 0 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	15 24 0.625	15 24 0.625	15 24 0.625	15 0 15+	0 0	4
J.Jefferys N	M 4 0	2 - 0	3 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 2 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 1	4 9 0.444	6 11 0.545	5 9 0.556	6 0 6+	0 0	2
W.Jones M	M 3 0	1 - 0	2 0 0	0 0	1 0 0	0 0 0 1 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 1 0	3 6 0.500	4 7 0.571	5 6 0.833	4 0 4+	0 0	2
E.Kasmier N	M 39 0	38 - 0	33 0 0	2 0	0 0 0	0 0 0 0 0 3 0 0 2 0 0 0	8 8 4 0	26 5 0 0 0 0	0 21	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	35 91 0.385	73 129 0.566	37 91 0.407	81 1 81	0 0	26
E.J.Keys N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 4 0.250	1 4 0.250	1 4 0.250	2 0 2+	0 0	1
Sh.Kirkland M	M 2 0	0 - 0	3 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 1 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 7 0.571	4 7 0.571	5 7 0.714	4 0 4+	0 0	1
S.Koch N	M 2 0	0 - 0	1 0 0	1 0	0 0 0	0 0 0 1 0 0 0 0 0 0 0 0	0 1 0 0	1 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 5 0.400	2 5 0.400	3 5 0.600	3 0 3+	0 0	1
M.Lewandowski M	M 1 0	0 - 0	1 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	4 3 1.333	2 0 2+	0 0	1
R.Linton M	M 1 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 4 0.750	3 4 0.750	4 4 1.000	3 0 3+	0 0	2
K.Lofton N	M 5 0	0 - 0	2 0 0	4 0	1 0 0	0 0 0 0 0 0 0 0 1 0 0 0	1 1 1 0	5 0 0 1 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	7 17 0.412	7 17 0.412	13 17 0.765	8 0 8+	0 0	8
B.Lyles N	M 2 0	1 - 0	0 0 0	1 0	1 1 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 4 0.750	4 5 0.800	9 4 2.250	3 0 3+	0 0	4
J.Macabee M	M 4 0	1 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 1 0 0	4 0 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	3 10 0.300	4 11 0.364	3 10 0.300	5 1 5	0 0	3
B.Mace N	M 8 0	2 - 0	10 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 3 1 0	7 1 0 0 0 0	0 6	2 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	12 24 0.500	14 26 0.538	14 24 0.583	17 0 17+	0 0	7
J.Machado M	VI 1 0	2 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	3 4 0.750	1 2 0.500	3 0 3+	0 0	0
D.Maguire N	M 14 0	2 - 0	11 0 0	5 0	0 2 0	0 0 0 0 0 0 0 0 0 0 0	1 8 0 0	13 0 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	18 40 0.450	20 42 0.476	29 40 0.725	26 0 26+	0 0	16
J.Maloney M	M 3 0	0 - 0	4 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	2 0 0 0	1 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	5 8 0.625	5 8 0.625	6 8 0.750	5 0 5+	0 0	4
Cr.Martin M	M 7 0	1 - 0	13 0 0	4 0	1 2 0	0 0 0 0 0 0 0 0 0 0 0	2 0 0 0	3 1 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	20 26 0.769	21 27 0.778	32 26 1.231	19 0 19+	0 0	12
De.Martin M	M 1 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 4 0.750	3 4 0.750	4 4 1.000	3 0 3+	0 0	2
H.Mathis M	M 52 0	20 - 0	65 0 0	17 0	4 1 4	0 0 0 0 0 3 0 0 0 0 0	9 3 3 0	49 3 0 0 0 0	0 24	0 0 0	0 0 0	0 0 0 3 3	0 0 0	0 0 0 0	91 161 0.565	111 181 0.613	131 161 0.814	109 3 36.33	0 0	76
J.McCary N	M 6 0	0 - 0	2 0 0	2 0	2 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	6 3 0 2 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	6 19 0.316	6 19 0.316	12 19 0.632	7 0 7+	0 0	1
D.McDermond N	M 5 0	0 - 0	11 0 0	2 0	0 0 1	0 0 0 0 0 0 0 0 0 0 0 0	1 0 1 0	1 0 0 0 0 0	0 2	0 0 0	1 0 0	0 0 0 0 0	0 0 0	0 0 0 0	14 17 0.824	14 17 0.824	19 17 1.118	13 0 13+	1 1	7
S.McNair M	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	1 2 0.500	1 2 0.500	1 0 1+	0 0	0
T.Menefee M	M 1 0	0 - 0	1 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	3 3 1.000	2 0 2+	0 0	1
Player Name	GB GN	W* AW IW	V 1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB O	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О тов/о	SB SA	RBI
	Games	Walks	Singles	Doubles Tr	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player Players shown in bold, col Players shown in colored f	lored font are cu	urrently Regulars on o	Getting one or more teams.		Homers	Outs at the Plate	Getting Out Outs on the Ground	▲ Outs in the Air	● Other Outs UO = Unknown		▲ Getting Over S2 = Stole 2B	Running Bases A Getting Out C2 = Caught Stealing Second	<u> </u>	Getting Gone	▲ How Often You Hit Hits = 1+2+3+H	▲ How Often You Get On OB = On Base	Averages A How Effectively You Hit TB = Total Bases	TOB = Time On Base	1	
	▲ Games Pla GB = Game B BN = Game	Batted	▲ Singles 1* = only straight Sing 1DB = Dead Ball Sin 1Cl - Catcher Interfe	igle Trence	HR = Homer Ir HY = Homer (FC = Fielder's Choice DP = Double Play TP = Triple Play	LO = Line Out AKO = Automatic TKO TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence	P	ng Out . Getting On PR = Pinch Ran BB = Base Burgl	S3 = Stole 3B SH = Stole Hom	C3 = Caught Stealing Third e CH = Caught Stealing Home BOOB = Baserunner Out On B 0 = BOOBs+C2+C3+CH HB = Hit by batted Ball		n = Injury Su = Substitution X = Unknown	AB = At BAt Hits+Outs BA = Batting Average	W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	AB = At BAt Hits+Outs		H ▲ How Often Sa B = Stolen Base	
		W* = only straight V AW = Assisted Wal IW - Intentional Wa	lk (Coed)	▲ Doubles 2* = only straight D 2GR = Ground Rul	ouble	KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging KU = Strikeout Umpire's Discretion		110 - Tipie Guikeout-Tiit Over Pelice		X2 = Extra Innin	g Runner on 2B	TB = Touched by Base coach IOB = Intentional Out on Bas	e						S2+S3+SH A = Steal Avera SB / (SB+C2-	ige +C
						IOP = Intentional Out at the Plate OE = Official Out Due to Ejection													ou Drive In A luns Batted In	

			Getti	ng On					Getting Out]	Running Bas	ses		Getting Gone			Averages	_		
	Games	Walks	Singles	Doubles	Trpls I	Homers	At the Plate		On the Ground		In the Air	Other		Over		Out		Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GI	W* AW I	W 1* 1DB 10	CI 2* 2GR	3 H	HR HY	KB KD KE KF KI KL KO K	P KS KU IOPOE	GO FC DP TP	FO LO	AKO TKO TK	2 TK3 UO /	PR BB X2	S2 S3 SI	H C2 C3 C	СН ВООВ О	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OB	P TB AB Slu	g TOB 🖸	TOB/O SB SA	A RB
D.Metrick I	M 1 0	0 -	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 1 0	0 0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 2 0.00	0 0 2 0.0	00 0 2 0.0	000 0 0	0+ 0 0	0 0
D.Miles I	M 1 0	0 -	0 2 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 3 0.66	7 2 3 0.6	67 2 3 0.6	667 2 0	2+ 0 0	0 2
E.Mineishi	М 3 0	1 -	0 4 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	1 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	4 6 0.66	7 5 7 0.7	14 4 6 0.6	667 6 0	6+ 0 0	0 4
S.Mohr I	M 36 0	32 -	0 28 0	0 16 0	2	1 0	0 0 0 2 0 2 0 0	1 0 0 0	6 6 0 0	21 2	0 0 0	0 0 7	0 0 0	0 0 0	0 0	0 4 4	0 0 0	0 0 0 0	47 87 0.54	0 79 119 0.6	64 70 87 0.8	805 84 4	21 0 0	0 52
D.Monson	M 1 0	0 -	0 1 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	2 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 3 0.33	3 1 3 0.3	33 1 3 0.3	333 1 0	1+ 0 0	0 3
G.Montano	M 25 0	13 -	0 24 0	0 8 0	1	0 0	0 0 0 0 0 0 0 0	0 0 0 0	8 6 1 0	16 6	0 0 0	0 0 11	2 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	33 70 0.47	1 46 83 0.5	54 43 70 0.6	514 52 2	26 0 0	0 25
J.Montgomery I	M 21 0	6 -	0 23 0	0 1 0	3	0 0	0 0 0 1 0 0 0 0	0 0 0 0	7 11 0 0	11 6	0 0 0	0 0 15	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	27 63 0.42	9 33 69 0.4	78 34 63 0.5	540 44 0	44+ 0 0	0 28
T.Moon	M 16 1	2 -	0 13 0	0 7 0	4	0 0	0 0 0 0 0 1 0 0	0 0 0 0	0 3 0 0	14 1	0 0 0	0 0 7	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 1	24 43 0.55	8 26 45 0.5	78 39 43 0.9	007 29 1	29 0 0	0 15
S.Morgan I	M 6 0	2 -	0 8 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 4 0 0	5 0	0 0 0	0 0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8 17 0.47	1 10 19 0.5	26 8 17 0.4	71 14 0	14+ 0 0	0 2
B.Murphy I	M 2 0	0 -	0 3 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	1 1 0 0	0 1	0 0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 6 0.50	0 3 6 0.5	00 3 6 0.5	500 4 0	4+ 0 0	0 1
C.Nickerson	M 1 0	0 -	0 2 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 2 1.00	0 2 2 1.0	00 2 2 1.0	000 2 0	2+ 0 0	0 1
N.Olmsted	M 1 0	1 -	0 1 0	0 0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 1	0 0 0	0 0 1	2 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 3 0.33	3 2 4 0.5	00 1 3 0.3	333 2 0	2+ 0 0	0 2
W.Pailloz	M 1 0	0 -	0 1 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	3 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 4 0.25	0 1 4 0.2	50 1 4 0.2	250 1 0	1+ 0 0	0 0
T.Palermino I	M 2 0	0 -	0 0 0	0 0	0	0 0	0 0 0 0 0 1 0 0	0 0 0 0	2 1 0 0	1 0	0 0 0	0 0 2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 1 0 0	0 5 0.00	0 0 5 0.0	00 0 5 0.0	000 1 0	1+ 0 0	0 0
A.Pervis I	M 1 0	0 -	0 0 0	0 0	1	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 2 0.50	0 1 2 0.5	00 3 2 1.5	500 1 0	1+ 0 0	0 1
T.Pinto I	M 4 0	0 -	0 2 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	8 1	0 0 0	0 0 2	2 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 11 0.18	2 2 11 0.	82 2 11 0.1	82 2 0	2+ 0 0	0 0
R.Powers I	M 6 0	0 -	0 4 0	0 1 0	1	0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 2 0 0	8 1	0 0 0	0 0 4	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	6 18 0.33	3 6 18 0.3	33 9 18 0.5	8 0	8+ 0 0	0 4
K.Rachu	M 3 0	2 -	0 2 0	0 2 0	1	0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 1 0 0	3 0	0 0 0	0 0 1	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	5 10 0.50	0 7 12 0.9	83 9 10 0.9	000 8 0	8+ 0 0	0 5
M.Reams I	M 1 0	0 -	0 3 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	0 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 4 0.75	0 3 4 0.7	50 3 4 0.7	750 4 0	4+ 0 0	0 2
N.Reeves I	M 1 0	0 -	0 2 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 3 0.66	7 2 3 0.6	67 2 3 0.6	667 2 0	2+ 0 0	0 0
A.Richardson	M 2 0	2 -	0 3 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 1 0	1 0	0 0 0	0 0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 5 0.60	0 5 7 0.7	14 3 5 0.6	5 0	5+ 0 0	0 4
K.Richardson I	M 1 0	0 -	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 2 0 0	2 0	0 0 0	0 0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 4 0.00	0 0 4 0.0	00 0 4 0.0	000 2 0	2+ 0 0	0 0
D.Roberts I	M 1 0	0 -	0 1 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	3 0	0 0 0	0 0 2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 4 0.25	0 1 4 0.2	50 1 4 0.2	250 1 0	1+ 0 0	0 0
R.Roper I	M 13 0	3 -	0 20 0	0 3 0	2	0 0	0 0 0 1 0 0 0 0	0 0 0 0	6 1 0 0	9 0	0 1 0	0 0 10	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	25 43 0.58	1 28 46 0.6	09 32 43 0.7	'44 29 1	29 0 0	0 13
Player Name	GB GI	N W* AW I	W 1* 1DB 10	CI 2* 2GR	3 H	HR HY	KB KD KE KF KI KL KO K	P KS KU IOPOE	GO FC DP TP	FO LO	ко тко тка	2 TK3 UO /	PR BB X2	S2 S3 SI	H C2 C3 C	сн воов О	нв тв юв	Ej In Su X	Hits AB BA	OB PA OB	P TB AB Slu	g ТОВ О	TOB/Θ SB SA	A RB
	Games	Walks	Singles	Doubles	Trpls I	Homers	At the Plate		On the Ground]	In the Air	Other	On	Over		Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player Players shown in bold, co Players shown in colored	lored font are of font are curren • Games Plance GB = Game BN = Game	tly Subs on one or m ayed Batted	one or more teams. ore teams. ▲ Singles 1* = only straight S 1DB = Dead Ball S	Single	l HR	Homers = Homer Insi ' = Homer Ov	Outs at the Plate KB = Strikeout - Ot KD = Strikeout - Dt KD = Strikeout - Dt KD = Strikeout - Dt KE = Strikeout - E KF = Strikeout - E	at of Batter's Box elay of Game atter Elsewhere Fouls	GO = Ground Out				own Out	▲ Getting Over S2 = Stole 2B S3 = Stole 3B SH = Stole Hor	C2 = Caught S C3 = Caught S ne CH = Caught BOOB = Bas	Stealing Second Stealing Third		Getting Gone ▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	▲ How Often You Hit Hits = 1+2+3+H AB = At BAt Hits+Outs BA = Batting Average	OB = On Base W+1+2+3+H PA = Plate Appearanc Walks+Hits+Out		TOB = Time Or W+1+2+3+F Θ = BOOBs+C TOB/Θ	Base C+PR+BB+X2	I I I Iften Safe
		▲ Walks W* = only straigh AW = Assisted W IW - Intentional	/alk (Coed)		3 = Triple ht Double	le	KL = Strikeout - KO = Strikeout KP = Strikeout KS = Strikeou KU = Strikeou IOP = Intenti	Looking - Unknown - Stepped on Plate			Strikeout - Hit Over		BB = Base Burg		HB = Hit by TB = Touch	r batted Ball hed by Base coach entional Out on Bas	n se			ODI - OII Base /ady	oley - Oleyyiny 70ay		SB = Stolen S2+S3+S SA = Steal A SB / (SB Runs You Drive In RBI = Runs Batter	+SH Average :B+C2+C3 n ▲

	_		Getting	g On			Getting Out				Rı	inning Bases		Getting Gone			Averages			
	Games	Walks	Singles	Doubles Tr	pls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP I	KS KU IOPOE GO FC DP TP	FO LO AKO TKO TK2 TK3	UO / P	PR BB X2	S2 S3 SH	C2 C3 CH BOOB ()	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/G	SB SA	RBI
M.Rowland M	M 10 0	3 - 0	17 0 0	1 0	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 2 0 0	8 0 0 0 0 0	0 2 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	19 29 0.655	22 32 0.688	22 29 0.759	24 0 24+	0 0	15
A.Rupp N	M 4 0	1 - 0	4 0 0	4 0	2 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	3 1 0 1 0 0	0 0 1	1 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	10 15 0.667	11 16 0.688	18 15 1.200	11 0 11+	0 0	10
I.Ruyle M	M 12 0	3 - 0	13 0 0	1 0	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0 2 4 1 0	14 1 0 0 0 0	0 12 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 1	15 37 0.405	18 40 0.450	18 37 0.486	22 0 22+	0 0	14
T.Salley N	M 2 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 0 0 0	1 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 5 0.600	3 5 0.600	4 5 0.800	3 0 3+	0 0	1
B.Sarubbi M	M 1 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 1 0 0	0 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	2 3 0.667	3 0 3+	0 0	2
C.Shakir M	M 2 0	1 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 1 0 0	2 0 0 0 0 0	0 2 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 5 0.400	3 6 0.500	2 5 0.400	4 0 4+	0 0	1
M.Sharp N	M 3 0	0 - 0	4 0 0	0 0	0 0 0	0 0 0 1 0 0 0 0	0 0 0 0 0 1 0 0	2 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 8 0.500	4 8 0.500	4 8 0.500	5 0 5+	0 0	3
Sc.Sherwin M	M 1 0	0 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0	0 0 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 1.000	3 3 1.000	3 3 1.000	3 0 3+	0 0	1
Sh.Sherwin M	M 1 0	0 - 0	1 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	1 0 0 0 0 0	0 0 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	4 3 1.333	2 0 2+	0 0	1
B.Shumaker N	M 2 0	0 - 0	0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	1 0 0 0 2 0 0 0	2 1 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 6 0.000	0 6 0.000	0 6 0.000	0 0 0+	0 0	0
C.Sprague M	M 12 0	2 - 0	9 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0 4 6 0 0	12 1 0 0 0 0	0 4	1 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	10 33 0.303	12 35 0.343	12 33 0.364	18 2 9	0 0	10
T.Stephens M	M 2 0	1 - 0	0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 0 0 0	4 0 0 0 0 0	0 1	1 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 5 0.000	1 6 0.167	0 5 0.000	1 0 1+	0 0	0
B.Stidham M	M 1 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	1 0 0 0 0 0 0 0	1 0 0 0 0 0	0 0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 4 0.500	2 4 0.500	2 4 0.500	2 0 2+	0 0	0
AJ Sutton M	M 1 0	0 - 0	0 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	2 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	2 3 0.667	1 0 1+	0 0	1
R.Swancott N	M 2 0	0 - 0	4 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 1 0 0	3 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 8 0.500	4 8 0.500	4 8 0.500	5 0 5+	0 0	3
M.Tejada N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	1 0 0 0 0 0	0 0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	1 2 0.500	1 2 0.500	1 0 1+	0 0	0
A.Thomas N	M 4 0	0 - 0	7 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 2 0 0	4 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	8 14 0.571	8 14 0.571	9 14 0.643	10 0 10+	0 0	5
E.Thompson M	M 1 0	0 - 0	0 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 0 1 0	0 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	2 3 0.667	1 0 1+	0 0	1
B.Venable M	M 1 0	0 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0 0 0 1 0 0	0 1 (0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	3 4 0.750	3 4 0.750	4 4 1.000	3 1 3	0 0	2
A.Waight N	M 24 0	3 - 0	24 0 0	8 0	3 0 0	0 0 0 2 0 1 0 0	1 0 0 0 2 10 0 0	21 2 0 0 0 0	0 16 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	35 74 0.473	38 77 0.494	49 74 0.662	48 0 48+	0 0	27
W.Webb N	M 9 0	4 - 0	6 0 0	1 0	0 0 1	0 0 0 0 0 0 0 0	1 0 0 0 3 2 0 0	12 0 0 0 0 0	0 6 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	8 26 0.308	12 30 0.400	12 26 0.462	13 0 13+	0 0	11
C.Wheeler N	M 1 0	0 - 0	1 0 0	1 0	0 0 0	0 0 0 1 0 0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 0	0 1 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	3 3 1.000	2 0 2+	0 0	2
J.Whitley N	M 13 0	7 - 0	14 0 0	6 0	1 0 2	0 0 0 0 0 1 0 0	0 0 0 0 2 1 1 0	9 1 0 0 0 0	0 6 (0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	23 38 0.605	30 45 0.667	37 38 0.974	29 0 29+	0 0	26
M.Wilkinson N	M 3 0	0 - 0	2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 1 0 0	5 0 0 0 0 0	0 2 (0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	2 9 0.222	2 9 0.222	2 9 0.222	3 1 3	0 0	0
Player Name	GB GN	W* AW IW	/ 1* 1DB 1CI	2* 2GR 3	3 HR HY	KB KD KE KF KI KL KO KP I	KS KU IOPOE GO FC DP TP		<u>!</u>			С2 С3 СН ВООВ 🖸				OB PA OBP	TB AB Slug	тов О тов/о	SB SA	RBI
•	Games	Walks	Singles		pls Homers		On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player			Getting				Getting Out				Rı	inning Bases		Getting Gone			Averages			
Players shown in bold, col Players shown in colored f	font are currentl ▲ Games Play GB = Game B BN = Game I	y Subs on one or more yed latted Not Batted Mulks W* = only straight V AW = Assisted Wa	e teams. ▲ Singles 1* = only straight Sing 1DB = Dead Ball Sing 1CI - Catcher Interfer Valk k (Coed)	gle Tr	riples Triple ouble	liver the Fence (Yard) KE = Strikeout - Batte KF = Strikeout - Foul KI = Strikeout - Illega KL = Strikeout - Loc KO = Strikeout - Ur KP = Strikeout - Strike	f Batter's Box y of Game er Elsewhere ls al Bat oking nknown tepped on Plate GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play at Particular School Play TP = Triple Play TP = Triple Play	FO = Fly Out	PR BB	Out Si Out S	SH = Stole Home	A Getting Out C2 = Caught Stealing Second C3 = Caught Stealing Third CH = Caught Stealing Home BOOB = Baserunner Out On Ba Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coach IOB = Intentional Out on Bas	E I	Getting Gone j = Ejection n = Injury Su = Substitution X = Unknown	Hits = 1+2+3+H AB = At BAt	M How Often You Get On A OB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+I 0 = BOOBs+C2+C3+C TOB/O	BB+X2	rage
		IW - Intentional Wa	aik	Zork - Ground Mul	o Double	KS = Strikeout - S KU = Strikeout U IOP = Intentiona OE = Official Ou	mpire's Discretion												ou Drive In A Runs Batted In	

				Getting	On										Getti	ng Out											Runni	ing Bases	s			Getting	g Gone					Ave	ages					
	Games	Walks		Singles	Double	s Trpl	ls Hor	ners			At the	Plate			On t	he Gro	und		In	the Air		Ot	ther	On		Over			Ou	t		Ex	its	Batti	ng Avg.	o	n Base %	;	Slugging 9	%				
Player Name	GB GN	W* AW I	W 1*	DB 1CI	2* 20	GR 3	HR	HY	KB KD	KE KF	KI KL	. ко кр	P KS K	U IOPOI	GO	FC D	P TP	FO L	O AK	ко тко	TK2 TK	3 UO	1	PR BB	X2 S	S2 S3 S	SH C2	C3 CI	н воов	Θн	в тв ю	B Ej In	Su X	Hits	AB BA	ОВ	PA O	P T	B AB	Slug	TOB	О ТОВ/	/Θ SB S	A RI
T.Will N	M 1 0	0 -	0 1	0 0	0	0 0	0	0	0 0	0 1	0 0	0 0	0	0 0 0	0	0	0 0	0	0 0	0	0 0	0	1	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	1	2 0.50	00 1	2 0	500 1	2	0.500	1	0 1+	0	0 0
G.Williams N	M 19 0	2 -	0 27	0 0	4	0 3	1	0	1 0	0 0	0 0	0 0	0	0 0 0	10	5	0 0	4	0 0	0	0 0	0	9	0 0	0	0 0	0 0	0 0	1	1 0	0 0	0 0	1 0	35	55 0.63	37	57 0	649 48	55	0.873	41	1 41	0	0 28
R.Williams N	M 0 1	0 -	0 0	0 0	0	0 0	0	0	0 0	0 0	0 0	0 0	0	0 0 0	0	0	0 0	0	0 0	0	0 0	0	0	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	1 0	0	0 0.00	0 0	0 0	000	0	0.000	0	0 0+	0	0 0
T.Williams N	M 2 0	1 -	0 1	0 0	2	0 0	0	0	0 0	0 0	0 0	0 0	0	0 0 0	0	0	0 0	2	0 0) 1	0 0	0	2	0 0	0	0 0	0 0	0 0	1	1 0	0 0	0 0	0 0	3	6 0.50	00 4	7 0	571 5	6	0.833	4	1 4	0	0 2
L.Yeomans N	M 5 0	2 -	0 5	0 0	3	0 1	0	0	0 0	0 0	0 0	0 0	0	0 0 0	2	0	1 0	1	1 0	0	0 0	0	2	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	9	14 0.64	13 11	16 0	688 14	14	1.000	11	0 11+	0	0 6
J.Yepez N	M 4 0	1 -	0 4	0 0	1	0 0	0	0	0 0	0 0	0 0	0 0	0	0 0 0	1	2	1 0	2	0 0	0	0 0	0	2	0 0	0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	5	11 0.45	55 6	12 0	500 6	11	0.545	8	0 8+	0	0 4
J.Mendoza	38 0	11 0	0 46	0 0	12	0 5	1	0	0 0	0 1	0 1	0 0	0	0 0 0	12	8	1 0	25	5 0) 1	0 0	0	18	2 0	0	0 0	0 0	0 0	2	2 (0 0	0 0	0 0	65	118 0.55	51 76	129 0	589 92	118	0.778	82	2 41.00	0 n/a r	n/a 53
Team Totals		2147 0	18 9194	94 8 1	2420	5 915	282	68	4 0	0 ###	1 ###	# 2 4	76	0 1 1	2277	1584 #	### 0	5005 8	397 0	108	0 0	0	3482	318 0	0	4 0	0 1	1 0	350	351 8	0 3	2 10	5 14	12893	23393 0.55	15058	25558 0	589 181	98 23393	0.778	16292	351 41	n/a r	n/a 920

(198=198m+0f) Team by Year - League - DZ - Extended

Player Name		W* AW IW						KL KO KP KS KU IOPO							C2 C3 CH BOOB O HE				`	д тов О тов/о	SB SA	RBI
	Games	Walks	Singles	Doubles	Trpls	Homers	At	the Plate	On the Ground	Int	the Air	Other	On	Over	Out	Exits	Batting Av	On Base %	Slugging %			
▲ Name of Player	1		Getting	g On					Getting Out					R	Running Bases	Getting G	one		Averages			
	iont are currentl Games Play GB = Game B BN = Game N	y Subs on one or mor yed satted	e teams. A Singles 1* = only straight Sing 1DB = Dead Ball Sing 1CI - Catcher Interfer /alk k (Coed)	gle	l I Triple 3 = Trip aight Doubl	e e	KB = KB = KKB + KD KKB + KD KE KE KF KI KF KI KF KI KF	uts at the Plate = Strikeout - Out of Batter's Box = Strikeout - Delay of Game = Strikeout - Batter Elsewhere = Strikeout - Batter Elsewhere = Strikeout - Hilegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging KU = Strikeout Umpire's Discretic IOP = Intentional Out at the Plate OE = Official Out Due to Ejectio	on e	FO = Fly Out LO = Line Out AKO = Automatic 7 TKO = Strikeout - TK2 = Double Str		e !	n Out	S3 = Stole 3B SH = Stole Home	▲ Getting Out C2 = Caught Stealing Second C3 = Caught Stealing Third e CH = Caught Stealing Home BOOB = Baserunner Out On Base Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coach IOB = Intentional Out on Base	▲ Getting Gon Ej = Ejection In = Injury Su = Substitt X = Unknow	Hits = 1+2+3+H AB = At BAt tion Hits+Outs	Hit A How Often You Get OOB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+ Θ = BOOBs+C2+C3+C TOB/Θ S	BB+X2 CH Mathematical How Often B = Stolen Ba S2+S3+SH CA = Steal Ave	ase I rerage C2+C3+CH)